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Magnetic field efrects

.- In addition to the previous measurement,
measured the magnetic field dependence of
relative efficiency of the 3-inch PMT three times.

. | used another 3-inch PMT as the monitor PMT.
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Magnetic field efrects

. Earth’s magnetic field around two dark boxes is
about 0.03 mT.

- | measured the relative efficiency in the three types
of PMT's angles to Earth’'s magnetic field.
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Relative efficiency

Relative efficiency Is defined as follows :

Relative efficiency =

1t of Poisson distribution

Mean of monitor PMT integrated charge

Integrated charge distribution of 3-inch PMT
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Relative efficiency

. | checked the magnetic field dependence of the
relative efficiency.

. The efficiencies in O mT and 0.03 mT are similar.

. The efficiency in -0.03 mT differs from in O mT and
0.03 mT.
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Light Intensity
.- | checked the mean of integrated charge of the
monitor PMT.

. [he result shows no rainbow curve.
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